N = 0 &8 AF S & Al A
20209 &= =20l & L EFG |
SA FAIME T
M. FOMEMHAANISEX/FHLAHSIH)

e XGAE S X (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;lﬁ% HRE2
F0l M=t 15,447,012 13,479,504 1,967,508

= 8,871,527
Fag 200,958
== 1,750,724
= 4,623,803
FOIMEMHHIA (AL SX/HAHESX ) 251,680 193, 190 58,490
= 21,000
o 230,680
INR:PNE-IE==DN 251,680 193, 190 58,490
== 21,000
= 230,680
NEAEEEAN 2 124,400 117,400 7,000
201 AE2AH| 32,400 32,400 0
01 Ar®2teltl 32,400 32,400 0
= 0l & 32,400 32,400 0
OXNSATEHEAM 2 15,800
OUHEEHM 32 70,0003 *20Y *23| 2,800
OAREYH =2 70,000 25 *43| 7,000
OARIURE o
20,000& x50 63| 6,000
OSHXNIASIBEEEAN &4 12,400
OSHAAME 294
100,000 14 S ™ 43| 5,600
OSHIIAE 34
10,000& x170H 43| 6,800
ONERY 2 70,000& *30H 23| 4,200
203 YRF&| 2,000 2,000 0
03 AIEF=XSRF=AH| 2,000 2,000 0
= 0l & 2,000 2,000 0
OKXNSASEHEAM AHLRFA
200,000& *10&] 2,000
307 212t0l A 90,000 83,000 7,000
03 QIZIHHBEESIHEX 50,000 50,000 0
= 0ff & 50,000 50,000 0
OXSEAEEHE AN LI (XHA) 50,000
04 OQIISHALAIRE B =X 40,000 33,000 7,000
= 0ff & 40,000 33,000 7,000
O 2 AANY 40,000
ool 35 10,000




S FOIMED
Mo FOIMBAHIA(NSEN/FAHETR)
@ XS AE =KX (e &
S-S (BN) - ANRAY - BAS (X o) o) HRE2
| | OO0IZAY LRUSEA 30,000
XNEANSEHEOAN S (EX) 30,000 30,000 0
& 6,000
- 24,000
307  QI2t0l & 30,000 30,000 0
& 6,000
= 24,000
03 CQIZAHXNEE2IHEES 30,000 30,000 0
= 6,000
= 24,000
= 0ff &F 30,000 30,000 0
= 6,000
= 24,000
OXNSAI2EHE AN 2 30,000
& 6,000
= 24,000
MI=XNEELMH 2 15,000 0 15,000
= 15,000
[ 0
307  QI2tol A 15,000 0 15,000
& 15,000
= 0
03 QIAEHXNEER2IHEES 15,000 0 15,000
& 15,000
= 0
= 0l & 15,000 0 15,000
& 15,000
= 0
OMI=EXNEEBHH 29 15,000
& 15,000
= 0
M3 SXALE HE & Ot 1,000 1,000 0
201 LBt y| 1,000 1,000 0
01 AFR2Z2lYl 1,000 1,000 0
= 0l &F 1,000 1,000 0
OX YAt S&AHE A M
20,0003 #5022 1,000




SN FUMED
HE: FOIMEAHA(AMSST/HAANSTE)
St XIS ASI =X (B9 @2
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
EEFEEE 4,200 4,200 0
201 Yur2Hl 4,200 4,200 0
01 At el 4,200 4,200 0
=0 & 4,200 4,200 0
OMNIENARE 2Y4T
70,0002 %208 *33] 4,200
NS ERTSIEEY 30,000 20,000 0,000
307 QI2H0| | 30,000 20,000 10,000
04 DIZHEAAS B E 30,000 20,000 10,000
= 0 4t 30,000 20,000 0,000
OABIZXC & JGSA L ASI BRI
3l 30,000, 00021 *13] 30,000
ER=AE] 45,830 19,390 26,490
201 Yur2Yyl 15,880 10,140 5,740
01 At el 4,800 4,800 0
=0 & 4,800 4,800 0
CHEIES-1H 4,800
02 ZZ2Y| 11,080 5,340 5,740
=0 & 11,080 5,340 5,740
OSEXZAN 92 27 BUE ASE
30,0002 *3CH 128 1,080
ONS2HB0 ZF SX RERS 10,000
ogpr2H 50021 +7,500% 3,750
SEPIEY:! 2,5002 2,500 6,250
303 EA3 30,000 9,250 20,750
01 Za3 30,000 9,250 20,750
=0 4 30,000 9,250 20,750
OXNSAASBHHE SLNNH T4 30,000
META FHFOHY 1,200 1,200 0
01 YprRHI 1,200 1,200 0
09 AAHIXIZ 1,200 1,200 0
=0 4 1,200 1,200 0
MERAFY QUHD 29 1,200
KISASI A HIA SXHANR (ALS] S X /ANS] = X 2 8 134,030 143,536 ~9,506
2 107,224
= 8,042
2 18,764




FEQE)

D NSGASIAEIA SXALY (AR S XI/ALE S R L )

D KA M A SEXFALS (e &
A B S (BH) - HEAY - B ggj) @(LJME,;L%% HDE2
NS ASIHEIA EXHAI 134,030 143,536 AN 9,506
Fag 107,224
== 8,042
= 18,764
KNEXNESE AMSIAMHIA EXAIS (XIH) 134,030 143,536 AN 9,506
Fiay 107,224
== 8,042
@ 18,764
201 282 A | 2,500 2,500 0
= 2,500
01 At 22|yl 2,500 2,500 0
rag 2,500
= 0l & 2,500 2,500 0
Fag 2,500
OXNYXNEEY MIAMHBAEGAY(XNH) 2
A Hl 2,500
Fag 2,500
308 AXEHMSOIA 131,530 141,036 N 9,506
Fag 104,724
== 8,042
= 18,764
10 SI2SHUSEANERAEAIS ] 131,530 141,036 AN 9,506
rag 104,724
== 8,042
iy 18,764
= Ol & 131,530 141,036 AN 9,506
Fag 104,724
== 8,042
= 18,764
OXEXEEY AMIAMEIA EXFAIE (XIE) 131,530
Fag 104,724
== 8,042
= 18,764
SEAZEXNS 2 (NS /HY - AHUK) 449,355 286,537 162,818
SeAs =X 2 22 .29 449,355 286,537 162,818
SEAE SR 229 449,355 286,537 162,818
101 jSlals] 22,245 20,675 1,570
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2N FoIMED
HE: ZEASNY 2Y(RS/TY - NYUDT)
oel: ZEAMISND Bel.2Y (B9 @
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
OolE=xE 2 Jlsnd =l
0,0002 *463] 112 45,540
OZzIg2E A 10,000
202 Oft 34,320 0 34,320
01 =il 34,320 0 34,320
=0 & 34,320 0 34,320
CEWIEI 34,320
SEATIVE] 200,002 *112 *122 26,400
SELIE] 60,0008 *112 x 122 7,920
206 Ml 1,000 1,000 0
01 T 1,000 1,000 0
=0 & 1,000 1,000 0
OZzIY 2% WEIY(DIPLEE S) 1,000
301 YWBHI 4,000 2,000 2,000
09 BAAHIX RS 4,000 2,000 2,000
= 0l &t 4,000 2,000 2,000
O=SXBAY Y T2 29 2y L
DE| 4,000
401 ANSHIL2THY 105,000 6,000 99,000
01 Al&HI 105,000 6,000 99,000
=0 & 105,000 6,000 99,000
O A &t 105,000
OBEASSTZ 22LYBA 95,000
ONEERRI(NEE 24 S) 10,000
405 TerH S 30,000 22,482 7,518
01 TAUSEHSY 30,000 22,482 7,518
=0 & 30,000 22,482 7,518
ORMYSEFHSH 30,000
OAMREIT 2 2279 30,000
2Ed L NA(MS=X/E2) 1,639,250 1,596,570 42,680
= 485,040
o 1,154,210
gene 2 N 1,639,250 1,596,570 42,680
= 485,040
2 1,154,210
FERTN FolaY 1,008,000 930,000 78,000
= 480,000
2 528,000
]




SA FOME T
Mz E52e L XN (AM=EX/88)
o9l 2Eael 2 X8 GO
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
301 Bt M= 1,008,000 930,000 78,000
== 480,000
= 528,000
01 AMSIEEE=G =2 1,008,000 930,000 78,000
o= 480,000
= 528,000
= 0l & 1,008,000 930,000 78,000
== 480,000
o 528,000
©06.25 2SS o=
220,000& x166Y x12& 438,240
== 239,040
= 199,200
OEYEERSA Ho=< 569,760
== 240,960
o 328,800
B2II5 2 2L AE 423,000 466,200 N 43,200
301 Bt N = 423,000 466,200 AN 43,200
01 A EEEHSG=2 423,000 466,200 N 43,200
= 0l & 423,000 466,200 N 43,200
OE&EIIIE ®= 50,000& *950Y *23| 95,000
O0Os=28&9 € 2R |2
150, 000& 20 3,000
ogu=<¢ X2z 300,000
O3NEZUANT Sl
50,000& *500 12& 300,000
OEHESIBA AMEAZ2 500,000& *50H 25,000
SERSMHESE) A XA 2,000 2,000 0
301 QetE M= 2,000 2,000 0
01 AISIEEEHLG6= 2,000 2,000 0
= 0ff &F 2,000 2,000 0
OSER3A 75 AU 500,000& x4H 2,000
=SR2 2 =H A& 7,200 3,320 3,880
== 5,040
= 2,160
307 QI12t01 A 7,200 3,320 3,880
== 5,040
o 2,160

|
~




SA FOME T
Mz E52e L XN (AM=EX/88)
o9l 2Eael 2 X8 GO
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;lﬁ% HRE2
01 =L P =H| 7,200 3,320 3,880
== 5,040
= 2,160
= 0l & 7,200 3,320 3,880
== 5,040
o 2,160
O=SERSA =HI A& 7,200
== 5,040
o 2,160
SERSAH(ES) AZHI XA (XA 3,000 0 3,000
307 Q12t01 A 3,000 0 3,000
01 =L P ZH| 3,000 0 3,000
= 0l & 3,000 0] 3,000
OSESZX(ESE) 92H X 3,000
BEAIE 22 23,000 3,000 20,000
201 A E2 A Y| 3,000 3,000 0
02 =324l 3,000 3,000 0
= 0l & 3,000 3,000 0
OB SAE =87 XH| 1,500,000& 23] 3,000
401 AlEHIL20iH] 20,000 0 20,000
01 Al&HI| 20,000 0 20,000
= 0l & 20,000 0 20,000
O=2&AE JIEHl &X 20,000, 000& *14] 20,000
S=85 #HA 74,250 105,250 A 31,000
201 282 A Y| 21,000 24,500 A 3,500
03 AI2HEH| 21,000 24,500 A 3,500
= 0l & 21,000 24,500 A 3,500
O8EYL S E2JEHHA 12,000
©6.25& M J| Sl Al 9,000
301 et N = 8,250 9,750 A 1,500
09 SHAIAHIXAS 8,250 9,750 A 1,500
= 0l & 8,250 9,750 A 1,500
©6.257| S & At 4,000
ODNYMAERS BHLOo| & SHAIEA X 2 A
30,000& *45H 1,350
O0z=3 XN&Eo &5 24
50,000& *10H 23] 1,000
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S FOMBD
M 2E2c 2 XY (MIEX/EE)
oo 222 & NH (el
i - . 0fl &t & 0 & o ~
SA Y SAEA) - MEAY - BHES =z T HDS2
OFHERSA I35 MEH XA
6,000& 300 1,800
HEE M0 AE(SSENXE /NS - o 10,500 12,500 A2,000
2l)
FodE HAMNS 10,500 12,500 A2,000
M0l 3,000 3,000 0
206 M =4l 3,000 3,000 0
01 MZHl 3,000 3,000 0
= 0l &t 3,000 3,000 0
OMEQAHel (B2 & 2F7Y)
300,000& *10& 3,000
120X+ & S AL CH 7,500 9,500
201« 1,500 1,500
03 o 1,500 1,500
= 0l & 1,500 1,500
O 120K S At A2 S 1,500
203 & 1,000 1,000
03 AMHEFTHR=IH| 1,000 1,000
= 0l &t 1,000 1,000
O 120X S A Al =X 250,000 *43 1,000
301 LEENZ 5,000 7,000
09 AAHIXE=S 5,000 7,000
= 0l &t 5,000 7,000
O 120X & S Ab A HI 2 &HH
20,0003 50 *4 2 4,000
O 120X E S ALAE S &I Ast 20,000 *50 1,000
4 2ot (A EX /=42 E) 2,150,372 1,590,326
= 1,455,702
s 93,734
ES 206,351
= 394,585
A =4 2,150,372 1,590,326
= 1,455,702
s 93,734
LS 206,351
= 394,585
g2z X 2dE ¢ Z2AXSdH 2 (X2 1,280, 160 898,823
22 AHY)
= 1,024,128
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SN
X ZH -
L=

el

o)
4
[pal
o

SH-EH. O (AN) - NRANY - B o) ) HDE2

= 76,810
2 179,222

101 ol24| 141,452 175,823 AN 34,371
= 113,162
= 8,487
= 19,803

04 JI2ZtHZ22NHSE* 141,452 175,823 A 34,371
= 113, 162
= 8,487
= 19,803

= Off & 141,452 175,823 A 34,371
= 113, 162
= 8,487
= 19,803
O=0) =&Y NE2ZAS 141,452
= 113,162
= 8,487
= 19,803

206 M=l 3,000 3,000 0
= 2,400
= 180
= 420

01 & Hl 3,000 3,000 0
= 2,400
= 180
= 420

= 0l & 3,000 3,000 0
= 2,400
= 180
= 420
OXEZ2Z A Tt bl 3,000
= 2,400
= 180
i 420

307  glztol A 1,135,708 720,000 415,708
= 908, 566

68,143
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SA FAME T
H: HASE MEOA X (AMIA=EX /I =MEZE)
Ee: XEAIY =X (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
307 QIz2tol & = 158,999
11 Al SXAIEE X 1,135,708 720,000 415,708
= 908, 566
== 68, 143
iy 158,999
= 0l & 1,135,708 720,000 415,708
= 908,566
= 68, 143
= 158,999
O=ZDUIZMEEE QAAEY XNES2Z ALY 1,135,708
= 908,566
== 68, 143
= 158,999
eEA2 76,523 70,399 6,124
= 61,219
== 4,591
o 10,713
301 et M= 76,523 70,399 6,124
= 61,219
== 4,591
= 10,713
01 MIBEAELGHZ2 76,523 70,399 6,124
= 61,219
== 4,591
iy 10,713
= Ol & 76,523 70,399 6,124
= 61,219
== 4,591
= 10,713
OXe&EH23 76,523
= 61,219
& 4,591
= 10,713
IaAHNS SEE XA 118,592 118,592 0
= 59,296
= 59,296
101 [Slals] 118,592 118,592 0

_12_




SA FAME T
B HASE MBOE N (ASE/IEMSEE)
chel: THEAY =a (e &
SA BB (AH) - HBAY - BA= o) ) HDE 2
101 o4l = 59,296
= 59,296
04 JIZtHZZ2NSE=S 118,592 118,592 0
= 59,296
= 59,296
= 0l & 118,592 118,592 0
& 59,296
= 59,296
OX&LHE EEXNE ALY 118,592
& 59,296
= 59,296
22 NGy ¥ ZENEMEH2E (XY 261,967 249,281 12,686
ANEAdHSY)
= 183,377
= 23,577
= 55,013
307  QI2tol A 261,967 249,281 12,686
= 183,377
= 23,577
i 55,013
10 AL EXANEEHE2LHEXS 261,967 249,281 12,686
= 183,377
T 23,577
= 55,013
= 0l & 261,967 249,281 12,686
= 183,377
& 23,577
= 55,013
oxtazZz, NGHady & 2AaXedH
(NS HEdH2Y) 261,967
= 183,377
& 23,577
= 55,013
NS THedH SAE X3 15,600 15,600 0
= 4,680
= 10,920
307 glztol & 15,600 15,600 0
= 4,680
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SA FAME T
B HASE MBOE N (ASE/IEMSEE)
chel: THEAY =a (e &
SA BB (AH) - HBAY - BA= (X o) ) HDE 2
307  glztol A = 10,920
10 AL SXTAEEE2ZHIES 15,600 15,600 0
= 4,680
= 10,920
= 0l & 15,600 15,600 0
= 4,680
= 10,920
ONHEXNAXNEHEEH SAN =X 15,600
= 4,680
i 10,920
NS Tedy AsI=XAF X2 Y K& 2,160 2,160 0
307  QI2t0l ™ 2,160 2,160 0
11 AMISAANBEE 2,160 2,160 0
= 0l &t 2,160 2,160 0
OXGXEME AZ=ZEXAL HHE+Y XIS
30,0003 x6H 123 2,160
ANEAMY 243 SA 26,570 26,570 0
= 7,971
[ 18,599
307 QIztol M 26,570 26,570 0
& 7,971
= 18,599
10 AL EXAEEE2ZHEX 26,570 26,570 0
& 7,971
= 18,599
= 0l & 26,570 26,570 0
& 7,971
= 18,599
OXteEAE 435 5 26,570
& 7,971
= 18,599
NAXedE S3HLAS 23,275 23,275 0
= 16,292
& 2,095
= 4,888
402 QIZERrE0l M 23,275 23,275 0
= 16,292
= 2,095
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SA FAME T
B HASE MBOE N (ASE/IEMSEE)
chel: THEAY =a (e &
SA BB (AH) - HBAY - BA= o) ) HDE 2
402 QI =0lM = 4,888
02 QUAT2AMEEZ(0IXTHA) 23,275 23,275 0
= 16,292
< 2,095
= 4,888
= 0l & 28,275 23,275 0
= 16,292
& 2,095
= 4,888
OXNSREHEH SEHHALS 23,275
= 16,292
& 2,095
= 4,888
NEAIYE MAR AT EHS 2SS 15,000 15,000 0
= 7,500
= 7,500
402 QIZ2EX=0| M 15,000 15,000 0
& 7,500
[ 7,500
02 QT 2AISEX(0I™THA) 15,000 15,000 0
== 7,500
i 7,500
= 0ff & 15,000 15,000 0
& 7,500
= 7,500
OXEAtY MaXMATIe EHE 2SAA 15,000
=~ 7,500
= 7,500
Aota & X3 A 213,358 101,222 112,136
= 170,686
= 12,801
[ 29,871
308 XXSHMSOIH 213,358 0 213,358
= 170,686
= 12,801
= 29,871
10 I 2SHCHSHE & X E AL I 213,358 0 213,358
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SA FAME T
Hu: HASE MBOE X (MIZN/IIZMSEE)
Ee: XEAIY =X (cte ®
SN HE B (BA) - MEAY - BHAS (ggj) @(ijf;ﬁ% HRE2
10 SIZ2SHHSHE & EP EAS Y = 170,686
== 12,801
= 29,871
= 0l & 213,358 0 213,358
= 170,686
== 12,801
o 29,871
oOsLdINSESHE 1 4,840
= 3,872
== 290
o 678
OsLI=ESE 2 118, 163
= 94,530
= 7,090
= 16,543
ogI=sE 11,220
= 8,976
== 673
= 1,571
OFUEIWIZSSH 58,400
= 46,720
== 3,504
= 8,176
OFUENEHZ 20,735
= 16,588
== 1,244
o 2,903
NATESE ASAMEIA EXAY (JHAIZIEHBI 2 E 2 117,167 69,404 47,763
Ol AFE)
Fag 93,734
== 7,030
o 16,403
308 XXSHMSOIE 117,167 69,404 47,763
Fag 93,734
== 7,030
o 16,403
10 SI2SHUSEAHRAE AIS B 117,167 69,404 47,763
Fag 93,734
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SA FAME T
B HASE MBOE N (ASE/IEMSEE)
chel: THEAY =a (e &
SA BB (AH) - HBAY - BA= (X o) ) HDE 2
10 BI2SOICHeHE & & E AL HI = 7,030
= 16,403
= 0ff &F 117,167 69,404 47,763
fias 93,734
= 7,030
= 16,403
OIIMAELRE20IALSY 117,167
= 93,734
= 7,030
= 16,403
MNZ =X LBHALS S XI/ALS = X L B 453,747 267,810 185,937
= 373,947
= 79,800
A =RALY Bt 453,747 267,810 185,937
= 373,947
= 79,800
M =XAE KA 27,000 29,500 A 2,500
203 YR F&Hl 1,000 1,000 0
03 AI#FXAHIFZAHI 1,000 1,000 0
= 0l & 1,000 1,000 0
OA2 =X A4 2te| RF&Y|
200,000 53] 1,000
301 et 3 13,500 13,500 0
01 AMIEFH=HI3 13,500 13,500 0
= 0l & 13,500 13,500 0
OMNI=XAYE BERZ 6,750,000 *23| 13,500
307 2120l d 12,500 15,000 A2,500
11 AMISAAMNBEE 12,500 15,000 A 2,500
= 0l & 12,500 15,000 A2,500
ORI ZtAtSI =X AH E=1WSH| XI&
30,000& x250H * 13| 7,500
OHW& A3 SRAL As 5,000
MISRRIB Y 52,800 52,800 0
301 etgdza 52,800 52,800 0
08 AN SRLIABLAS 52,800 52,800 0
= 0l & 52,800 52,800 0
OMI=RRE SAH 4,400,000& «12& 52,800
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SN

HM: AISI SR LBHAIEZEX/ALEI 2 X LB
EH2 . AISI S XIANY B (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
ANSSEERA B 373,947 185,510 188,437
= 373,947
301 ABIE N2 373,947 185,510 188,437
= 373,947
08 AISI=SRQLIABA= 373,947 185,510 188,437
= 373,947
= 0l & 373,947 185,510 188,437
= 373,947
OANS=ERHE XA 373,947
= 373,947
FOIXX Dl A (Let2 28y /A H) 202,420 160, 189 42,231
= 31,541
== 13,147
= 157,732
ANASAH 25 2435 202,420 160, 189 42,231
= 31,541
== 13,147
o 157,732
NSMAEHSE L SAHA 22] 75,000 51,000 24,000
201 282 A Y| 18,600 13,000 5,600
01 Ar®2telt] 3,600 3,600 0
= 0ff A 3,600 3,600 0
OXNESAHEH &9 3,600
OXNJASAMEEH 29 200,000& *123| 2,400
OXNJASAMEH 2822 & AKX HE
00,000& *23| 1,200
03 #AI2HH| 15,000 9,400 5,600
= 0l & 15,000 9,400 5,600
OXEASAI HAISHHI 1,000,000& 13| 1,000
OJIIESAHY 2 100, 000& *123] 1,200
OFHAYE USsgos At & 100,000& *123] 1,200
Odelsd ME2SAIHE 29
100, 000& *200t 7 2,000
OFAEUXNIEA HMESW 29
500,000& *x23] 1,000
O™ NIASAMI 29 8,600
203 Y= 1,000 1,000 0
03 AIEHZ=XSRE=XH| 1,000 1,000 0
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SA FAME T
Mz ZOIXX JIgt L (L2 2N /UL A )
ool GHEA ES 245 CER-E
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;ﬁ% HRE2
= 0l & 1,000 1,000 0
OXJASAISH 2HE3F 100, 000& *103] 1,000
301 Bt M= 39,400 31,000 8,400
09 HAIAHIXAS 24,400 16,000 8,400
= 0l & 24,400 16,000 8,400
OXNJASAA 2E s 2 3o &4
50,000 *40H 2,000
ON=ZXNISAI Uig &A 200,000& 104 2,000
Odelxd M2SAIY H2OHA =
10,000& * 104 x4 A| 2t %200} 7 8,000
O XNIEAN Uy A 50,000& *40H 2,000
OXNJSALAH && X AES 50,000& *40H 2,000
=SH UASAE 2t€3 24 8,400
12 JIEIE A2 15,000 15,000 0
= 0l & 15,000 15,000 0
OXESALAIZE B A2 D8
2003 x75,000A] 2+ 15,000
307 212t0l A 15,000 5,000 10,000
02 QI2tFAANHEX 5,000 5,000 0
= 0ff A 5,000 5,000 0
OXASA SHH 243 XA 5,000
OIS AH 29 5,000
04 OQIISHALAIRE E =& 10,000 0 10,000
= Ol & 10,000 0 10,000
OlUs2ez dlLE = 24 10,000,000 %13 10,000
405  XHAaHFE S 1,000 1,000 0
01 MMLEEFSHI 1,000 1,000 0
= 0ff A 1,000 1,000 0
OXNSSAHE ZHA X S ¢
00, 000& =24 1,000
NESA 2SsX& 12,000 12,000 0
== 3,600
= 8,400
201 282 A Y| 12,000 12,000 0
== 3,600
o 8,400
01 Ar®2te2ldl 4,800 4,800 0
o= 1,440
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SA FAME T
Mz ZOIXX JIgt L (L2 2N /UL A )
ool GHEA ES 245 CER-E
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
01 At 2t2ldl = 3,360
= 0l & 4,800 4,800 0
== 1,440
= 3,360
OXIASAHE 29 400,000 x12& 4,800
== 1,440
= 3,360
03 AI2HH| 7,200 7,200 0
== 2,160
= 5,040
= 0l & 7,200 7,200 0
== 2,160
- 5,040
OXNZSAIAE S#HAISH 1,000, 000& *53] 5,000
== 1,500
o 3,500
OXNISAIHHE G AH2FUS
55,000& «40H 2,200
== 660
o 1,540
M= E8 NFEANEE I AMHlIA K& 5,184 5,536 N 352
= 2,592
== 778
= 1,814
301 et N = 5,184 5,536 N 352
= 2,592
== 778
= 1,814
01 AMSIEEE=G =2 5,184 5,536 N 352
= 2,592
= 778
= 1,814
= 0l & 5,184 5,536 N 352
= 2,592
== 778
= 1,814
OXNJASALA Aci2&0te XI& 5,184
= 2,592
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S FEeIME D
Hal: FOIXA I L (U DIHE/UHT)
Sl NREMN B2 2o (B9 @2
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
= 778
2 1,814
ReE=A 2OUO0IE X - & (XH) 57,898 55,261 2,637
2 28,949
= 7,669
2 21,280
101 eIyl 57,898 55,261 2,637
2 28,949
= 7,669
2 21,280
03 SIHA2EXRA 57,898 55,261 2,637
2 28,949
= 7,669
2 21,280
=0 4 57,898 55,261 2,637
2 28,949
= 7,669
2 21,280
OXAZA RCIUIOIE X2 AHYS 57,898
2 28,949
= 7,669
2 21,280
ReE=A 2OUO0IE X - S8 (XH) 31,138 19,192 11,946
101 oIyl 31,138 19,192 11,946
03 SIHA2EXEBA 31,138 19,192 11,946
=0 4 31,138 19,192 11,946
OXRREARCIUIOIE OUIXIS
250,0009! 2% * 122 6,000
ONEARCIUOIE HE2E
40,0008 *128 480
ORNAZARLIUOIE N2Fe+g
05,0008 * 122 *2% 2,520
OXEZARCIUOIE Al
15,9502 *15 Al 2 +128 %28 5,742
ORASADCIUIOIE AU (SSRIF ol
me =0H2) 8,198, 0008 *2% 16,396
RRSAR G225 % HSUR(HH) 19,000 15,000 4,000
201 Yur2YHl 4,000 4,000 0
03 A2l 4,000 4,000 0
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SA FAME T
B HAHSNA (NS /FHAHSTR)
T REIEES O CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
= 176,121
= 475,569
A=K 799,868 442,450 357,418
= 318,843
= 140,721
= 340,304
2= 101,884 110,170 A 8,286
= 81,508
= 10,188
= 10, 188
301 etEdZ3 101,884 110,170 A 8,286
= 81,508
= 10,188
= 10, 188
01 A2EZH 03 101,884 110,170 A 8,286
= 81,508
= 10,188
= 10, 188
= 0l & 101,884 110,170 A 8,286
= 81,508
& 10, 188
= 10, 188
O2=2=X X3 A 101,884
= 81,508
= 10,188
i 10, 188
SetAtel Z2lAb oAl X2 (SSAMSXE LA 95,080 95,080 0
)
= 47,540
o 47,540
101 o144l 95,080 95,080 0
= 47,540
= 47,540
03 SRJHAZZNE S 95,080 95,080 0
= 47,540
= 47,540
= 0l & 95,080 95,080 0
= 47,540
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ra

40
]
%

& 1 = 0f 4 o

1 5 o 0] &t 0 _
K- B33 a9(3) - HEAY - BES Sl ek =2
2 47,540
O S & Atell & 2| At 95,080
OQlAHEl S 95,080
2 47,540
i 47,540
ANz SEAtdl2e X (SSAMESXE LA 36,954 20,800 16, 154
N KA
101 ol24d| 26,954 10,800 16,154
03 RIHAZZHRE=S 26,954 10,800 16,154
= 0l & 26,954 10,800 16, 154
OSEArell 22l AF 22/ o Hi
50,000 *x3H x 123 1,800
OSAtell 22l At HEFOtYI
1,379,500& »3Y «23| 8,277
Oz SH M0 g 2AHHl FIOREE
5,625,600 *3H 16,877
301 LerEdE 3 10,000 10,000 0
01 AMIEFESHI3 10,000 10,000 0
= 0l & 10,000 10,000 0
OAtefl 2210t JIFE2H3s T2 H
1,000, 000& =10 Al CH 10,000
ANz SEAte 2 N2 (SSMIASRE LA 11,400 11,400 0
M)
= 5,700
= 5,700
101 o4l 1,500 1,500 0
2 750
= 750
03 RIHAZZRE=S 1,500 1,500 0
= 750
= 750
= 0l & 1,500 1,500 0
= 750
= 750
OSEAtell&2elAt nEs=edl 500,000 *3H 1,500
= 750
= 750
201 eI 6,480 6,480 0
= 3,240
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SA FAME T
B HAHSNA (NS /FHAHSTR)
Crel: A=A N SRR
SH-EH. O (AN) - NRANY - B (X o) o) s
201 eI = 3,240
01 AtR2Zeltl 6,480 6,480
= 3,240
= 3,240
= 0l & 6,480 6,480
= 3,240
= 3,240
OAtell &2l 293t 6,480
= 3,240
i 3,240
301 etEdZ3 3,420 3,420
= 1,710
i 1,710
01 A EEESGH S 3,420 3,420
= 1,710
= 1,710
= 0l & 3,420 3,420
= 1,710
= 1,710
OAtell 22| At bl 3,420
= 1,710
= 1,710
SHs EE sEMHA X3 117,600 117,600
= 82,320
= 35,280
201 LEt2I| 58,800 58,800
= 41,160
= 17,640
01 AtS2eltl 58,800 58,800
= 41,160
[ 17,640
= 0l &F 58,800 58,800
= 41,160
= 17,640
OSHs XEE SESMUIA XNA(29HI)
4,200,000& 1401 S 58,800
= 41,160
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SA FAME T
B HAHSNA (NS /FHAHSTR)
T REIEES O CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
= 17,640
301 LEIENEZF 58,800 58,800 0
= 41,160
i 17,640
01 A EEESH S 58,800 58,800 0
= 41,160
i 17,640
= 0ff & 58,800 58,800 0
= 41,160
= 17,640
OSHsS XEE SSSMUIA XA (ALY
4,200,000 =144 58,800
= 41,160
i 17,640
ZECWIRY 33,400 33,400 0
307  gIz2tol A 33,400 33,400 0
10 AL EXANEEHE2ZHIES 33,400 33,400 0
= Ol & 33,400 33,400 0
OIRAZSHIMG(ZEEWT 2Y) 33,400
SHS NAAIEEEAM 29 N 34,000 0 34,000
= 17,000
= 17,000
201  Et2I| 3,500 0 3,500
= 1,750
= 1,750
01 At 2eltl 2,500 0 2,500
= 1,250
= 1,250
= 0l & 2,500 0 2,500
= 1,250
= 1,250
OSHINGANIIEEHE AN 5 /Herd D
29 X& 2,500
= 1,250
= 1,250
03 AI2ZHI 1,000 0 1,000
= 500
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SA FAME T
B HAHSNA (NS /FHAHSTR)
9l AT =X K CER-E
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
03 AI2ZHI = 500
= Off & 1,000 1,000
& 500
= 500
SHANGMIIEEEAM S AHAMY
w= 1,000
= 500
= 500
301 et 3 10,500 10,500
= 5,250
= 5,250
09 #AIAHIXIEZ 10,500 10,500
= 5,250
= 5,250
= 0l & 10,500 10,500
= 5,250
= 5,250
OSHINIAMIISHEAM S AEHHY
2o ¢ WE s 2L 10,500
& 5,250
= 5,250
307 QIztol M 20,000 20,000
= 10,000
= 10,000
1 ABIEX AR E 20,000 20,000
= 10,000
= 10,000
= Ol & 20,000 20,000
= 10,000
i 10,000
OSHXNIAMIEEEAM NAEESAY 20,000
= 10,000
= 10,000
S AHAFLUEIANNH AIHAS 166,000 166,000
= 83,000
= 83,000
101 elAd4| 19,350 19,350
= 9,675
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SA FAME T
B NS (MSSA/HANSNR)
chel: AS=A N CEELE
SNBSS (BH) - MEAY - B2 o @(ijf;ﬁ% HRE2
101 jelals] = 9,675
04 JIZHZ2ZNSE S 19,350 19,350
== 9,675
= 9,675
= 0l & 19,350 19,350
== 9,675
= 9,675
OAHHOHLIN 218 19,350
= 0
o 0
oJlea 68,7202 180 x1H 12,370
== 6,185
- 6,185
OFs 4 x4 68,720 x482 x1H 3,299
== 1,649
o 1,650
OEgsd= 15,669,000& *12% 1,881
== 941
= 940
OO0 bl 200,000& x9& 1,800
= 900
= 900
201 2 Bt2 A Y| 23,650 23,650
== 11,825
= 11,825
01 At 2t2lbl 10,000 10,000
o= 5,000
= 5,000
= 0l & 10,000 10,000
== 5,000
o 5,000
OANHCHUHET 299 10,000
== 5,000
o 5,000
02 =324 450 450
== 225
iy 225
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SA FAME T
H: FHAHSKNE(MISK/HAAHSKHA)
chel: AS=A N CEELE
SA BB (AH) - HBAY - BA= o ) HDE 2
=00 450 450
= 225
i 225
OICTMHEIASUHER S 37,5003 «12& 450
= 225
i 225
03 EAI2GHI 13,200 13,200
= 6,600
i 6,600
= 0ff & 13,200 13,200
= 6,600
= 6,600
O 2SS 453 (0tSsHdH T2 29
) 13,200
= 6,600
i 6,600
301 et Z 95,000 95,000
= 47,500
= 47,500
01 AMIEFH2HI3 87,000 87,000
= 43,500
= 43,500
= 0l & 87,000 87,000
= 43,500
= 43,500
OMItAMHIA XI& 87,000
& 43,500
= 43,500
09 ALAHIX&AZ 8,000 8,000
= 4,000
= 4,000
=0 8,000 8,000
= 4,000
i 4,000
ool2gsd 43 (R20ls sS/ds 2
g) 8,000
& 4,000
= 4,000
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SA FAME T
B HAHSNA (NS /FHAHSTR)
chel: AS=A N CEELE
SA BB (AH) - HBAY - BA= o) SRS HDE 2
402 QI =0lM 28,000 0 28,000
= 14,000
= 14,000
02 QUAT2AILEX(0IXTHIA) 28,000 0 28,000
= 14,000
= 14,000
= 0l &F 28,000 0 28,000
= 14,000
= 14,000
OFAHEZMLAS 28,000
& 14,000
= 14,000
HASZ OIMOIX 0FA3 X& A 203,550 0 203,550
2 101,775
= 30,533
o 71,242
301 et 3 203,550 0 203,550
= 101,775
= 30,533
i 71,242
01 AMIEFESHS 203,550 0 203,550
= 101,775
= 30,533
= 71,242
= 0l & 203,550 0 203,550
= 101,775
= 30,533
= 71,242
ONASS 0IMHX OtAZ E2AMEY 203,550
= 101,775
= 30,533
= 71,242
g0l 5 2 & 6,000 6,000 0
2go 25 2 X 6,000 6,000 0
301 etz 6,000 6,000 0
01 AMIEFH2HS 6,000 6,000 0
= 0l & 6,000 6,000 0
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m
40
[l
0

& 1 = 0f 4 o

C - E =L = B o (1= o) HRz2
25 o & o
oRg2 B3 10,000& 100 1,000
O e AHY Xt 1,000, 000& x5+ 5,000
HAEE A2 12,500 12,500 0
HAasE A2 12,500 12,500 0
301 LEIEAEZF 12,500 12,500 0
01 ASIEEH 12,500 12,500 0
= Ofl &F 12,500 12,500 0
CBIEFETE:
?A=2 12,500
Mol 2= 40,600 70,000 A29,400
& 35,400
= 5,200
Mol 2= 40,600 70,000 A 29,400
= 35,400
2 5,200
301 LEENEZF 6,600 7,200 A 600
= 1,400
= 5,200
01 AtZIEEH 5,200 5,200 0
= Ofl & 5,200 5,200 0
OMotis=23 + 5,200
09 ALAHIX 1,400 2,000 A 600
< 1,400
= 0fl & 1,400 2,000 A 600
= 1,400
OMoi+= W=t 7% +100,000& *23| 1,400
= 1,400
302 Ol=% XHoH 34,000 26,000 8,000
& 34,000
02 SI2FOITHoH 34,000 26,000 8,000
= 34,000
= Off &t 34,000 26,000 8,000
& 34,000
OO0l 8= 34,000
= 34,000
HAS=0 HABE= 97,000 63,000 34,000
MAS=0 A2EH 97,000 63,000 34,000
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SA FAME T
B HAHSNA (NS /FHAHSTR)
09 HASZO A2AREE K& CER-E
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
301 detedzg 97,000 63,000 34,000
01 MIBEHEE=SHS3 97,000 63,000 34,000
= 0l & 97,000 63,000 34,000
OMASzZ0 AZEEE K& 97,000
2= HAEXI& 3,000 3,000 0
A SHAMS XA 3,000 3,000 0
201 LBt 49H| 3,000 3,000 0
01 At 2eltl 3,000 3,000 0
= 0f] & 3,000 3,000 0
CoAz=¢Ad 22T S 2= MA
5,000& *600H4 3,000
HAsEstMu=sH A8 8+ X 11,565 9,000 2,565
HASSstMusHAE X3 11,565 9,000 2,565
101 21244l 10,180 7,922 2,258
04 JIZtHZZ2NSE =+ 10, 180 7,922 2,258
= Off & 10,180 7,922 2,258
Ox310 =M WU NIAAMY
2,036,000& x5H 10,180
201 et 49H| 1,385 1,078 307
01 At 2eltl 1,385 1,078 307
= 0ff &F 1,385 1,078 307
O==1 st W=sHl NJAAY =& 1,385
I ZMEBH(ASEX/IZHESE) 8,391,414 7,859,882 531,532
= 6,691,494
= 841,023
= 858,897
=== A XA 8,391,414 7,859,882 531,532
= 6,691,494
= 841,023
= 858,897
A= 8,243,992 7,662,500 581,492
= 6,595,194
= 824,399
= 824,399
301 etEd3 8,243,992 7,662,500 581,492
= 6,595,194
= 824,399
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SH: EUMD
FH: [UI=MESH(ASSX /I =MEEE)
@ 20| =2k KA (e &
SH-EH. O (AN) - NRANY - B o) ) HDE2
301 detedzg = 824,399
01 MIBEHEE=SHS3 8,243,992 7,662,500 581,492
= 6,595,194
= 824,399
= 824,399
= 0l & 8,243,992 7,662,500 581,492
= 6,595, 194
= 824,399
= 824,399
(OF W= 8,243,992
= 6,595,194
& 824,399
= 824,399
nEs0 15,842 19,004 A3, 162
308 XXEHHMSO0IH 15,842 19,004 A3, 162
08 wWsJIZ0UeEx 15,842 19,004 A3,162
= Off & 15,842 19,004 A3, 162
(OFNE= =10 | 15,842
ol & E = ¢ 82,500 72,653 9,847
= 66,000
= 8,250
= 8,250
301 etEdza 82,500 72,653 9,847
= 66,000
= 8,250
= 8,250
01 MIEHEE=SHS3 82,500 72,653 9,847
= 66,000
= 8,250
= 8,250
= 0l & 82,500 72,653 9,847
= 66,000
= 8,250
= 8,250
O=00I =2 ag Xk & . Z2HSHA
2 82,500
= 66,000
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SA FEIME T
FH: [UI=MESH(ASSX /I =MEEE)
@ 20| =2k KA (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
01 At 2teltl = 30,300
= Off & 30,300 0 30,300
= 30,300
O&F R L2 eI 30,300
= 30,300
MY 2HZHI(IIEH/IIE}) 86,943 87,543 A 600
Jl2dyl (=0l Mat) 86,943 87,543 A 600
HEFXAH| 3,600 4,200 A 600
203 YR F=&Hl 3,600 4,200 A 600
04 2EN2IHRFAH| 3,600 4,200 A 600
= 0l & 3,600 4,200 A 600
OFA2E ERFAH| 300,000& x12& 3,600
2 B2 A | 26,103 26,103 0
201  LBt249| 26,103 26,103 0
01 AtR2Zeltl 23,795 23,795 0
= 0ff & 23,795 23,795 0
og=2H| 19,763
o2&l 4,032
02 23293l 2,308 2,308 0
= 0l & 2,308 2,308 0
02223 ¥ HMHA 500
O A& &Hl = Xl 1,808
04 57,240 57,240 0
202 O Hl 57,240 57,240 0
01 2LHA I 57,240 57,240 0
= 0l & 57,240 57,240 0
OJl=dR=80Hl 200,000& x18H »12& 43,200
O=2UWs=&EAH 65,0002 x18H 123 14,040
MEES(F2UMED) (MBS /At SR L) 692,768 650,471 42,297
LHEHH XIS (=24 E D) 692,768 650,471 42,297
MISXNSELEIH ME3 692,768 650,471 42,297
701 JIEtIIHESEES 692,768 650,471 42,297
01 JIEtslHE =3 692,768 650,471 42,297
= 0ff & 692,768 650,471 42,297
OANBIEXNELEIH[AZSHAMY] BEZ(
XM 2) 653,941
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